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Sub-Section Id : 38190625
Question Shuffling Allowed : Yes
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Question Number : 1 Question Id : 381906605 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Among the following, a number that 1s NOT an irrational number

3

o TR I
L ey 3

Options :

3 0% LIAT1Z1013211112 ...

4 v 1.36

Question Number : 2 Question Id : 381906606 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The value of 2log 10 — log 4 —log 25 1S

= % I_.--'

-J,»:J-Jh; 2log 10 — log 4 — log 25

Options :

1.« 0



3 % 10

4 % 100

Question Number : 3 Question Id : 381906607 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[f the polynomial p(x) = x3 — x* + 3x + k is divided by (x — 1),
the remainder obtained 1s 3, then the value of “k * is

w53l S e (0= 1) p(r) =x3 -2 +3x +k §2T

| iy -
L ]
O Ker

Options :

1.+ 0

Question Number : 4 Question Id : 381906608 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Among the following, a number which 1s exactly divisible by 8

- -

Z:'_L")':*‘:ﬂ,_,-l“*h = 8 mn )]
Options :
1. % 32466
2 % 32476
3 % 32486
4.« 32456

Question Number : 5 Question Id : 381906609 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The value of sec16°cosec 74°— cot74°tan 16° 1s

=

= e

UMt sec16°cosec74°— cot74°tan 16°

Options :



Question Number : 6 Question Id : 381906610 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The value of “k’ for which the pair of equations 3x + 2y = 6 and 9x + ky =7
will become inconsistent 1s

#
| ~

clbwk e J2K 9% + ky = T4 3x + 2y = 6 Y& L35 Ik

Options:

Question Number : 7 Question Id : 381906611 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[f a number 1s 132 smaller than its square, then the number is

s sns sl 132 ;‘-:_._r:,.:l,_}:'i"&f

Options :

1. % 11



4. v 12

Question Number : 8 Question Id : 381906612 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

[n triangle ABC, 24 = 70°. If BP and CP are angular bisectors of 2B and £C
respectively, then the measure of ZBPC is

#F

Jf._,'-J (BPCyUndt L £CuiBo2 A CPABP/ 124 = 70°~ABCts

A

Options:

1. % 70°

[ e

4 % 140°



Question Number : 9 Question Id : 381906613 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

In the given tigure, PA and PB are tangents to the __\_\_,1

circle with center *0°. If PA =6 cm and / B0\ gem

£/PAB=60° then the length of chord AB (in cm) is [ \ p.
3 & l: G. | \/<

Sgue 0 L JPBAPALF TS\ / H

(ViU ) #6 AB/ s £PAB=60°,4PA = 6 cm \—/—,—/B

=

Options :

1.6

4. % 4

Question Number : 10 Question Id : 381906614 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The common difference of an arithmetic progression in which

4 SR
¥ Qg5 — Ay = =52 Jat S UKl

Options :

1. —4



4, % =3

Question Number : 11 Question Id : 381906615 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

If 277 = 1, then the value of ‘x ’ is

=
| i

J,"?;JJ‘-I ---: 2?}{_; - ]..--"I !

=

Options :

Question Number : 12 Question Id : 381906616 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



[f the perimeters of two similar triangles are 20 cm and 30 cm respectively,
then the ratio of their areas in the same order is
Sl S Uk Lo 3004 200 A SbIE i izen/ |

Options :

1_232:3
2 % 3:2
3¢ 419

4. %9:4

Question Number : 13 Question Id : 381906617 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The compound mterest on I 1000 at 10 % per annum compounded annually

for 2 years 1s T .
by ANV L.H_,J'.x?.g:..:_r:,;‘.:llv 10 {Ffu__j._,s_@u](][:'o

Options:

1 % $1200
5 % X200
3. v %210

4 % 1210



Question Number : 14 Question Id : 381906618 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sum of the distances from A (3,4) to X axis and from B (5,7) to Y axis 1s
T 5}.,_,'*""’~. Z.9YeB (5,7);}';}5 X< A (3,4)

Options:

1.% 8
2. % 10
3 % 11

4.+ 9

Question Number : 15 Question Id : 381906619 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[f a car travels 80 km with 5 liters of petrol, then distance (in km) covered by 1t
with 15 liters of petrol s

(Lkm)de /& It 2 £ 2 |Setnl/ & o £ H 5.06880 k[}h'{.{lﬁ I
Options :

1 % 400

5>« 240



3 % 200

4. % 100

Question Number : 16 Question Id : 381906620 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
[f a card s drawn from a well shuffled deck of 52 cards, then the probability of
getting a black king 1s

i - ~

. P .
o T T o P e e et e, P
bi‘-—-.-vr'-"f !'"L"'G.-V [.._.-’._.L?UE'H}'“ L‘Lla‘ :.:'-.-Ll.-" |i-‘.-—-l..¢"",..-ﬁ..'5.?.

J¥
Options:

1

1 % 52

| =

Question Number : 17 Question Id : 381906621 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A sphere 1s exactly fitted in a cube of edge ‘a” units, then the volume of the
sphere  (in cubic units) is

-~
-

£ 1A "?-/' - -l Ly | -f' ’ 'F’ i
(Luy ;_.[__._n,,/Jlf. 1 [_._,,;L,q_-_,-uw b b A fans
Options:

1
“mad
1. % 3

EJT{'I
2.

Question Number : 18 Question Id : 381906622 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

I[fA={x:xeN, 2 <x <7}, then the roster form of set A 1s

u.:!fug_;'i;—"’ MJA-_J}% =JxixeN, 2<x= ?},fr
Options :
1 S {2? 3i4r 51 6: ?}

, » {3,4,5,6]

3 % {2,3,4,5,6)



Question Number : 19 Question Id : 381906623 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The mean of five (5) observations 1s 12. If 4 1s subtracted from each
observation, then the mean of the new observations formed is

e i p¥ a-lr 9’-'..-'- _“- if-- s = ;
byt slflyBZ JUU I P Ve e i/ 1ie 12kl u245

Options :

1.% 9

3.+ 8

4. % 16

Question Number : 20 Question Id : 381906624 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Marked price of a shurt 1s X 1450. If 10% discount 1s given. then the selling
price of the shirt 1

= - Fa - - ~
dv’;_,_, ’, r.r--f:'ur"-"'E" ]Ut}i.-'l --q-_-q-.-- —'I"I'jl: —-ﬂ‘:l-l.-" 4 ;.,--:-""--*Lr
Options :

| % 31350



5, » 31305
53 % 1035

4 % 1053

Question Number : 21 Question Id : 381906625 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct statements from the following about
the nature of poles of magnets.

-
&

v I R ; i N i o
Sk SIS kL= B o — ur’fl-'”

&

1. South pole attracts South pole
t'.) i‘:J .?Iil_-H:" : H—-Niﬂn._:; o
11. South ]J'DIL repels South pole

"t } e
. ‘L,,v_..«ng_;ru_.ﬂ Slg

ii.  North pole attracts North pole

et I: .T.ﬁﬁf‘gFe.,.ﬁﬁ’glF
iv.  North pole repels North pole
/L :;'r__.&?d PB4
Options:

1. % 1,11
2. l v

o s i, i



4. v i1, 1v

Question Number : 22 Question Id : 381906626 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Zn+ Hel - Zncl, + H,  1s an example for
&L Zn + Hcl = Zncl, + H,
Options :

Chemical combination

i -
- ;
-

Chemical decomposition
T 5
2. % U
Displacement reaction
|' -I I.:. ';
3.« veEUs

Double displacement reaction
1 jl a

!u--l.
4. % g

(.j—

Question Number : 23 Question Id : 381906627 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



We see the formation of small drops of water on the outer surface of a
glass which has chilled water in it. This 1s an example for

‘. "d v P IP-' Kot E P -~
e Jo L Son o B E LY U b a Ui Ty i 2 B
Options :
Evaporation
“L:H
1. % 7

Condensation

2. e

Melting

3% =FU

Crystallization

4. % L

Question Number : 24 Question Id : 381906628 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Symbol for Sodium element

el 2 Ll
Options :

1. %9

2_3380



Question Number : 25 Question Id : 381906629 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
According to the driver of a moving bus, the passenger in that bus is
i ) A e TV Al e o .-":':"7 o
/."’Lr"jf._,' Uf:,_, S fg‘.»l&‘c..if_; e 07 "'J.:',f

Options:

Moving with acceleration

-~ -

bl L | - fl-h
1 % e/ e

Moving with Uniform speed

| |'-- .."
2 ® .;""__t',":.f_,?;;__rL’;.,_,'n.--&

Moving with Non-Uniform speed

- .
3 % el P Mot 2

e

At rest
o o |
4 F vl JPMUL

Question Number : 26 Question Id : 381906630 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Units used for temperature in clinical thermometer

N =
SLUb 4" 261D

“an

Options :

1.% °C
o

2. F

32.5 ”K

4% K

Question Number : 27 Question Id : 381906631 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following is called artificial silk?

Y =
- . ! F.

-+ R e
?v.;"-"".ﬂ |’;:'"'~.3 LG =SV

Options :
Nylon

1. % O

Polyester



Question Number : 28 Question Id : 381906632 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The reason for a rolling ball on the ground come to rest after some time
> ~._;"} l.eth ¥ J /2 ;;Hffy: () ;;\_-,,”.'.'J

.-r’.".-

Options :

Gravitational force

o
" L]
-

. w

Friction

2. ¥ i

Lack of acceleration

d J‘ ,i,l'a__.r' |

Lack of velocity

Uy

4. %

Question Number : 29 Question Id : 381906633 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
The substances that turn blue litmus to red litmus are

- bad) I P } &
1 | i B - S M -
= I..r'.l‘:ﬂ*:‘ O O

Options :

Acidic 1n nature

- '
1.“;'/ (= e W

Basic in nature

= 2 5L

Neutral in nature

Metalic 1in nature

3 gk
OlerP§ 2

Question Number : 30 Question Id : 381906634 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Sound do not travel in
S p T

Options :

Vaccum



Water

4 % I¥

Question Number : 31 Question Id : 381906635 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which among the following 1s NOT a water borne disease?

_'y:‘ Ao f . - .'I o~ - o
o Jjggls.;.._r,:;.gg_{:f:..u..ut:

_
Options:
Cholera

1 ) ® ,.-.f"‘"-:'_:

Typhoid

l/'/l.

2. % AU

Dysentery
Agx

3. % i



Pneumonia

1-1-

Question Number : 32 Question Id : 381906636 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the INCORRECT pair from the following

-
F - S ] . W
AL T BT N !

ok *. 8
Options :
Gibberellin - Stimulation of flowering
| & e i |
| % < A FoUE S
Ethylene - Promotes aging of leaves
ﬁ;‘*" - ¢ i 'IF} r W
2.+ o B [ *'-:'——L;*"k./’;’!: O A e
Abscisic acid - Closing of stomata
3' 8 ur::'-:v-‘L"" L:_.::[ L.l":.d*::{v;:-’
Cytokinins - Opening of stomata
- e
4% JEFL By

Question Number : 33 Question Id : 381906637 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The part of Human sperm cell occupied by numerous mitochondria is
Ll e g onke 3L
Options :

Tail
1w [

Neck

&
|

L

2 ® L

Head

Middle piece

PRVt "

Question Number : 34 Question Id : 381906638 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[dentity the CORRECT Sentence from the ﬁ:}l]mwing

<
- "% "

Options:

Marine mammals have blubber for losing heat from their body

.'-'} w rd e
% [ A u_-.-r_-’)gﬂq-—-L:-—-af( d..-’ q—.—-l"" * ur:v'_?:HJJM

Shrinking of lungs is disadvantage to aquatic mammals

/ 5
wt | / ey
h——t’.}c:*vl.“"’ -—"f ﬁl—'lh_,-rL""F ﬁjL ',._,u"

2. %



Bottom dwellers rely mostly on smell and auditory senses rather than vision
to acquire food

X,

| Kk »
3 ¢ —---rJL-ﬂ’{_.L‘;V 1l JL-JI...;.J"'@?.'..M;V .j‘ "fi" ’“LJ._.rU A4 Lf!.-.’:..;u

For every 10 metres depth in the sea water pressure decreases by one
atmosphere

=
.
\ o 1

i ..-..I' ) o A ,
e b2/ Y L KOLE L1 A 10 p00 00

A

Question Number : 35 Question Id : 381906639 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following plant is NOT endangered species?

f-’.:"_-._.m v r_.#”fuu: ::".-u":uh;u.

Options :
Orchid

r-"”"
’l W’ JII'Jj

Water hyacinth

5 J‘;“'_l:?ﬁ:

Rouwalfia serpentina

(o bk ol %l
L, Lt

Cycas
JEL



Question Number : 36 Question Id : 381906640 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The percentage of Nitrogen gas in the airis ...
i g E",_f:,_;'? s 7 L8
Options :
21 percent

1w #2221

78 percent

, v 4478

87 percent

L x 4887

[2 percent

w4412

Question Number : 37 Question Id : 381906641 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Dandelion plant seeds are dispersed through .....

- -

I_.._-q-.l,.__/ &=

el e BB e T K

Options :



Wind

1.4 Ix

Water

:

.

2. %

Animals

3. % =\l

Bursting of fruits

L',v:;*& 4

e

Question Number : 38 Question Id : 381906642 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
[dentity the CORRECT pair from the following

E e __;d-'
J ol o I kb

CE, - 3L_-:- [ & e - F:

ﬁ‘—-ll-"" W i --l,;"lh,l'_-

Options :
Tocopherol - Severe bleeding
1 % ._,-l f/.’:’ )!!:' Corie) !;,: ,.«:-"
Ascorbic acid - Anaemia
s Y g P ;:
2. gg - |-.ll: Jﬁ’-";‘[ f ._ﬁ.l[/



Retinol - Night blindness

L'.-lll..-ﬂ:'::'".." J-".?I?.-—:::
Calciferol - Stertlity
4 % l..rlf/ifjrf Lzt

Question Number : 39 Question Id : 381906643 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Lichens are formed by the symbiotic association of
. .

SVAELZ ™

e

"‘;_" L"l::::"l . I/I'

v"q;l_-rlLl,.,'H .-:E’:J'.JL—--' 3

-
|

Options :

Algae and fungi
NPT 7 ¢

Bacteria and virus

it e
o a [5 ..".*rL ___":J:“

Fungi and bacteria

- e
L :_-"..L: i r;_f.

Virus and Algae

]
~
A

F
4, ® ULl 1



Question Number : 40 Question Id : 381906644 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The experiment given in the picture illustrates

- P = =
i -1 ® o ¥£| o

- = % a

i-l-_—L..-r"-l--"’ Ulf.',.:.-/g .r-.-r:.. I,_:,,:.j

Options :

Light is necessary for photosynthesis

Carbondioxide is necessary for photosynthesis

o S 2T K2 LS S
2. % k. dee” i Sl ” o ol —m

Oxygen 1s released during respiration

-+ ul - at

e 2
P S |

{ = e ~
3. % MG TPl J

Heat is evolved during respiration

Question Number : 41 Question Id : 381906645 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which of the following town is located in the lower Telangana plateau?

- s

. ¥ ’

4 ! & f
e x/ R -] S N T i U o
..J.' LI _;E;J. [ 240 Leie)¥ NPT

Options:

Warangal
3

1. ¢ S

Nalgonda

2. % D AT

Mahabubnagar

F 2

3. % T
Hyderabad
4, % L

Question Number : 42 Question Id : 381906646 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Mchrauli Iron Pillar 1s 1n:

? - |
b b d |
:—__ (13 v :c’._ Yo

Options :

Fathepur Sikri

¢
1. % ik

-y
b

»
J-‘-:"l.".-I



Qutub Minar Complex
e

e
| &

2. ¢ Y Bt

Red tort

3. % 27U

Sanchi Stupa

LI b

Question Number : 43 Question Id : 381906647 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Find odd one:

Options :

Kalibangan

:"f
o)

1. # [y 'l-..:':/

Mohenjo Daro

2 VY AU

Lothal

Surkotada
I3 ;;"'



Question Number : 44 Question Id : 381906648 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
1. He is popularly known as Rao Saheb

e Ty ik
WEFE Ay =, R - | B
1 -

1. In Nizam’s Government he worked in PWD department
'- | b",- PWD‘——U.- : ﬂu:""‘:h? jL'-""'

He presided over Bombay Presidency Mahar Conference
in 1936. Who is he?

S wbmatd U PG S gl U1 21936
Options :

Dr. B. R. Ambedkar

| % ;#;_:-‘I_,.[d__.f-l_i

B.S. Venkat Rao

.f-l_- \-.--"- "::!uﬂ:'h;

Ramaswamy Iyengar
#

3, % ity

Bhagya Redcly Varmz&

: None Response Time

Question Number : 45 Question Id : 381906649 Question Type : MCQ Option Shuffling : No

Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time



: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Match the following:

Kingdom Capital
...'.*.»/‘::‘: 5
1. Bahmani a). Vijayanagara
. g 3
g S
11. Saluva b) Golkonda
Py ol s
111. Qutubshahi c) Gulbarga
L;:Li-:-'"‘"; ::".g
iv.  Chola d) Tanjore
114 VL .s—"
Options :

1 % 1-a, 1-b, 1i-c, 1v-d

> % 1-d, 1i-c, 1i-b, 1v-a

3 % 1-b, 1-c, mi-a, 1v-d

4 v 1-C,  1-a, 1-b, 1v-d

Question Number : 46 Question Id : 381906650 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Every day rhythmic rise and fall in the level of ocean water is called as
S ARl e s Ba i OB Sa sz
Options :
Tides

-

1. ¢ L

Currents

Waves

-
3.8 WY

Tsunami

4 % U

Question Number : 47 Question Id : 381906651 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
An Important source for historians Kitab-al-Hind was written by

I Lt U 5118 L o

Options :

Mohammad Ghon
1. 33 JJ..#_J;

Alberuni

|
2 l..:‘«*.-’::'



Babar

3 ® Lh
Fa-Hien
hle
4. ®

Question Number : 48 Question Id : 381906652 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
To attain Purna Swarajya, Congress launched the following movement

-

Options:

Home Rule

Khilatat

2 ¥ =

Civil disobedience

Vandemataram

4. ® |"fL£.--d:f

Question Number : 49 Question Id : 381906653 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The following State has only one Lok Sabha constituency
e Q4 Lis L Lot it
Options :
Tripura

-
| S

1% S

Sikkim

_J'“
2. ¥ '

Meghalaya

3% K
Manipur
a % 3C

Question Number : 50 Question Id : 381906654 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Nayankara System was followed by :
) i ;

r o0 L e
W LBkl

Options :

Kakatiyas

-
w m
il ¥

1.9



Cholas

Nizam rulers

3. % A7 5
Satavahanas
4. % L.v_'HI:‘L"

Question Number : 51 Question Id : 381906655 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
1s responsible for the regulating the debates and proceedings
of the state Assembly

.-l -

" w | e ” s o L.-l_ o
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Options :
Speaker

=

1.4 =R

Chief Minister

LA

2. ® /;r".""%:?

Governor

3.% /¢

Deputy Chief Minister

4. % 108



Question Number : 52 Question Id : 381906656 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correct pairs

F.};*_T-.*-;":'/J:T:f?
Name of the Hot winds - Region
AU Sk
1. Chinook - a) Arabian desert
52 QIL:A_'_?;_:,_}
1. Loo - b) North India
J Glanr 3¢
1. Simmon - c¢) USA — Canada
Ul L
1v. Norwester - d) New Zealand
,-;’-:eg_.-' .L:j,*;_

Options :

1 % 1-a, 1-b, mi-c, 1v-d

o wi-c. b, iii-a, iv-d

3 % 1-a, 1-¢, 1n-d, 1v-b

4 % 1-¢, 1-a, 1i-b, 1v-d

Question Number : 53 Question Id : 381906657 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The largest continental shelf is present in the following ocean
"'.F"f'fi.:'f:f‘&?'_,iu"'--ﬂ‘-iﬁﬁﬁ'H."if‘iﬂ'r"'

Options :

Pacific Ocean

1. % I

Arctic Ocean

Atlantic Ocean

3. % S A

Indian Ocean

&1

Question Number : 54 Question Id : 381906658 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Boers means

P,
Ny

Options :

British People living in cape town

e : I-‘ f’l o
L “1 b )
1 @ u_;i'——.d';_,.'-';_'.-lﬂrl-{:'_’:f+u—' :J.-"ir".-:



Africans lived in the Cape of Good hope region

el
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e e o [ b " [
Pl || Y | |
2. bt — - R

Dutch people lived in South Africa

- iE
[ .“IC'E, ,',:;'_I [ Pl ;;_,-r:,.:ﬂt:;‘lf.z‘fflu"'

The African tribes

L]

| ot
-2

4. ® V'Fl:‘!"b.f“z‘}

Question Number : 55 Question Id : 381906659 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

[f highest number of votes are polled for [NOTA] then:
Ut bd_trsmt ;2 L[NOTA] S

Options :

The elections would be cancelled
o~

= - - o |
- 'pL.? N oAyt |
1.$ i——rl-,aﬂ+‘:—e -.Jv

The candidate who secured second position would be declared as winner’

-

¢ 3 R A R
b lobsd )bl S =g s S st

2.¥

Re- election would be conducted with same candidates

re £ '.'-il - - 7
o e [ i A
Bl 7 s b eIl

3. %

Election commission have the right to declare any candidate as winner

- o

':' g ﬁ o e 5 - - r '.'__j
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Question Number : 56 Question Id : 381906660 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
According to the Indian Constitution life is in the following Article

. E

* L]

: 1 - - -
W x/ ik R - - .
— l'"n.r (VS PRSP -._.uh-t’l —_i I;.,TL-'!J-",

Options :
Article 13
1. # ]3,.:&::

Article 21

2. % 2],.1:.‘

Article 11
3_ w ] ],.Jt:."

Article 3

4. % 3,..!-::

Question Number : 57 Question Id : 381906661 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Disguised unemployment 1s noticed in
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Options :



Agriculture sector

Industrial sector

5 g
=
-\

Service sector

oL
-

3. % .--:"’"?-'L.-’i-?:

Foreign sector

& T e
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Question Number : 58 Question Id : 381906662 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Removing of trade barriers or restrictions set by the government 1s knows as

A -~ ™
L/ &
-
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-
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S R S
Options :
Privatisation

1. % -’..‘-‘L"-"

Globalisation
Al

[iberalisation

3 .,'»_i:,*ljf



Nationalisation

e

4, % -y

Question Number : 59 Question Id : 381906663 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Human Development Index is published by

- 2 -

s !—|"‘" = - T o--! "
cablllsdl_ A Oy o OL 2 OV
Options :

World Trade Organization

- o - -
e g
r*

T4 A s

1, % o

World Bank

Question Number : 60 Question Id : 381906664 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Related to Internet Banking, IFSC means
-"I _,-"'*h:—o- IFS{:‘ ,.;': n—-i-‘j"::;t‘i'-:'-__;:l

Options :

1 = Indian Financial Service Code

5 % Indian Forex Service corporation

5 Indian Financial System code

4 « Indian Financial system corporation

Teaching Aptitude
SectionId: 38190622
Section Number : 2
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 20
Number of Questions to be attempted : 20
Section Marks : 20
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 38190626
Question Shuffling Allowed : Yes

Is Section Default? :

null



Question Number : 61 Question Id : 381906665 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

What are the three basic characteristics of professionalism?

St o (il O =il 24
Options :

specialized knowledge, ethics, and licensing
3

& w T e g =) .
.,aL...':.uI:vIJfl._:Ll-ﬂf*"._, =

code. ethics, and licensing

|= " - N I *
2 % sl el Ul bile

training, knowledge, and morals

JLEM!'; mp

i

flexibility, relevance, and licensing

L ORY

i . e 14
4. # .-r‘lrn-':-le:?lf..._-‘-'!;_."AfJ_.r|

Question Number : 62 Question Id : 381906666 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The most significant component of effective teaching is to:

¥ O 5, &
o 2 Ala B 17 L

Options :



Create a disciplined classroom environment

- | 5 - o i
L..nl". JL‘ u}?L:'-:-" L—‘Fi!.r" |:_,.- k9 ..".-"‘Z_L_n-'LI

Teachers” commitment and integrity

§ Asiit sk § s s iiS A
L v cali s g n y
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Teacher’s efforts to foster learning and understanding
o i S b S o
4. w1 r‘ly?-a LY H ey I el

Question Number : 63 Question Id : 381906667 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Questioning in teaching, is most useful in:

-~
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LU omibasd s s sl es &

Options:

Disciplining learners

- | P R
1 ® ._,.-r:u"__ Lf..g_';':' .-"-'U:E..a.lr':'

Preparing learners for examination
b4

. - al -~ -
5 % e WP L o L

Rote memorization of facts by learners
- . Al
Ty

3 % (Fedicf e nd sy 75l



Ensuring active participation of learners in class

- e .
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Question Number : 64 Question Id : 381906668 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Technology i1s essential in education because it:

5 - W ~
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- t—— rli—- 34 : Je Ib -

- Lt e L A

Options :

Makes teaching effective and efficient

I Foao S 5y
Iy VL VR S SO

Maintains high standards of education

ad Fd PR ]
1 "
c_’_..._,“? N OrgCAy PR P

Makes teaching less burdensome

i -

= _j - -
¥ o W - i
S AT S e | AN

[s adopted by elite institutions
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Question Number : 65 Question Id : 381906669 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The most important factor for the success of a new teacher is his / her:

-
L3

| | -
.._L,:,_,’L.ﬁla;,__..f.;:...ﬂg'.ﬂ:._: f"—a....Ll

Options :

Attractive [.)e1'<;mmlit)-'

5 j,,. :
Sound knowledge of content and pedagogy
2. @ fl{f u,._,.--:":.r;,..: .JEIJ'l_.""
Communication ability
L+ i
3. Ty l-':-f.-'l.:"’uh ra
Organizational dblll[}
4. % SN T

Question Number : 66 Question Id : 381906670 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Effective teaching signifies all of the following except:

-'i' i
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Options :
Encouraging students during class discussion

1.¢

Teaching with passion

L..-' L—;"'.a-‘-’-_--u _.—t)ﬂr



Maintaining high di‘iCi[J]illE‘ in the classroom

|’{" '-.'f”' "-"j n.rf"| ezl '5[

Using variety of teaching resources
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Question Number : 67 Question Id : 381906671 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Some of the students repeatedly misbehave with a teacher in the
classroom. How will you respond to the problem?

F " it

Lyl e Tl S d e LG d dd i S sas
Options :

Improve their behaviour by setting an example in good behavior

-__-_. - = -
-"' e
L" '-/'*L.-’ h—-—lh.rli/—-!L—J |L"' "”r.-’ 'In-'EI

1.4

Deduct marks from their internal assessment score
= el T ~ N -
¥ ,.#: -~ | ‘

2. % L_.-u“_,:’

b k 21
[ e —_—

..-L.."_’_,_.-,,

Report to their parents
F .’1]_‘;/ r |

3. % &"_-UH.-”L/ - u.ﬂrl"f._-\_,-l

Do not allow them to attend your lecture

. -""___.- o
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Question Number : 68 Question Id : 381906672 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Use of teaching aids can help teachers make:
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e O Joul AN K 0T sd A L

Options :

Lessons seem fancy

.
L ™
| T
T

B
’_|+
1. % Sh - U

Teaching less burdensome

- -"l’_-" -
o~ o) | ~ -
2. % B Y VY

Teaching interesting
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Content Casy and concrete
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Question Number : 69 Question Id : 381906673 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
A sensitive teacher 1s always ready to:

e bl Ly 158 F 0

Options :

Provide notes to the students

- . .
v T |
L"_..- rf:lf'f L/ wa g ’.:_LI:’



Solve problems of the students

2 '\-\;,u/l') L' Jr--v_P I.—,I'F- L"F‘ h-'—l-—-'l' -I:'w

Help the poor students

U/ L (5] .-:'Lb '--".'.f;’

Help the gifted students
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Question Number : 70 Question Id : 381906674 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following qualities is an essential requirement of a
successful teacher?

-“.'_-J.J!__f_:;-—"-*’.'.L:‘;-'-'-*f - 5] ;_;':':_f: snd L e KL

Options :

Command over technology

=

[ E |fe
= [
1. % A e ..-__:Il..i.d"lf'l

Command over the language

). % 15 o

Command over the students

3. % 2



Command over the subject

AX S
4. i

Question Number : 71 Question Id : 381906675 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
As a teacher, you are asked to give your preference for the workload.
What will be your ideal choice?
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Options :

Only teaching classes

x SRS TES

Teaching classes and tutorials to students

-
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- o - TR e
2. % ""EU""“"JU_"?':""IU" Iﬁt""‘-'w

Fewer teaching classes and more administrative work

)
il o I j -
BB s Sl = | L_,-M*‘

Less teaching classes and more co-curricular responsibilities
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Question Number : 72 Question Id : 381906676 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

A teacher can assess the progress of his / her students by:
< (8T pumias 378 bzttt L

Options:

Systematically maintaining the record of students’ responses and learning
behaviours
£ - P" ks
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Conducting examinations
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2 ® il /G 1

Asking the student to write self-report
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Asking students to do peer assessment
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. ~ L] ] 2 -~
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Question Number : 73 Question Id : 381906677 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
The correct indicator of a teacher’s competency 1s:

e

0 B L
Options:

Result of the students

o
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Degrees and awards

\_{ILJ’: .-;
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Member of academic bodies
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3. % o R0

Personality of the teacher
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Question Number : 74 Question Id : 381906678 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The role of the teacher 1s to:

Options :

Cover the syllabus

-~ -~ .
1 % LALyy

Discipline the students

Je s b W

2. % v s

Guide the student and facilitate knowledge construction

- ~ e e e
. ) } | i o
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3.v

Evaluate homework and give grades
t;:;lf«v;:;!IL',ff-s, ’ ;..f.-!r‘!.

4. %



Question Number : 75 Question Id : 381906679 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

While you are teaching in the classroom, one of your students
identifies your mistake and points 1t out in front of the whole class.
How will you react to this?
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Options :

You will ignore the situation

& v Fum B o "
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You will accept your mistake humbly and thank the student for
correcting you
r riq__uﬁ d 73 7 T§~~ & |v-5 ’hj* [y
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2. ¢

You will scold the student and charge him with misbehavior
in the class

3.

You will step out of the class showing your displeasure
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Question Number : 76 Question Id : 381906680 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
Verbal guidance is least effective while a teacher is teaching about:
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Options :

Skills

1L.v KN

Attitudes

2 S ra— i,

Relationships

o
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Concepts and related facts
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Question Number : 77 Question Id : 381906681 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
A teacher who 1s not able to draw the attention of his students should:
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Options :

Find fault in his / her students



Start dictating

Resign from his / her post
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Evaluate his / her teaching method and improve the same
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Question Number : 78 Question Id : 381906682 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
As a teacher, you will demonstrate your impartial behaviour by:
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Options :
Making your own behaviour more balanced and fairer
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Criticizing the teaching community

Ll :.-J - )

-, s

5y # -
2 M e L0 Dad s

Maintain high self-esteem and egoistic behavior
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Assaulting students
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Question Number : 79 Question Id : 381906683 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Of the following, the most unreliable predictor of educational
achievement 1s:
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Options :

Family background and training
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1 % = il B2 A

Classroom experiences
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Ethnic origin of parents
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[nherited biological potential for learning
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Question Number : 80 Question Id : 381906684 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



You find that a particular instructional strategy is effective in teaching your
subject but none ofyour colleagues agree with you. You will:
oy h .
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Options :

Design action research that will prove the efficacy of the appropriate
strategy
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Agree to disagree
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Give up your strategy as none of the other teachers agree with it
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Look for a theoretical justification of the strategy from the books
available in the library
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Question Id : 381906685 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
No Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (81 to 85)
Read the passage carefully and mark the correct answer for the
questions

Out of the mouths of Babes

Last Friday I took my wife and my six-year old daughter Sudha to see the
TajMahal at Agra. We went by the Taj Express and Sudha was very excited
because she had never travelled by train before. She sat near the window
and looked at trees and houses flying with shining eyes. At one station a fat
woman about 30 years old, came into our compartment and sat facing us.

When the train steamed out of the station, the woman opened her hand bag,
took out a lip-stick and began to make up her lips. “Why are you doing
that? asked Sudha. ‘To make my face beautiful’, said the woman,
frowning. ‘But your face is still ugly’, said Sudha. You can imagine how
embarrassed my wife and I were! We apologized to the woman and told
Sudha sternly that she should not be rude to people. Sudha concentrated on
the countryside flying past the window and did not look at the woman again.

Sub questions

Question Number : 81 Question Id : 381906686 Question Type : MCQ Option Shuffling : No



Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

How did Sudha, my wife and 1 go to see the Ta;?
Options :

| » by bus

, by train

5 % Dy car

4 w Dy aeroplane

Question Number : 82 Question Id : 381906687 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Sudha was excited because:

Options :

| this was her first journey by train

, » she was a very little girl

5 = her parents were with her

4 « they were travelling very fast



Question Number : 83 Question Id : 381906688 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0
Where did the fat woman sit?

Options :

1 = sat next to Sudha

, % sat by the window

5 » Satin the seat opposite

4 % Sat in a different coach

Question Number : 84 Question Id : 381906689 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

What did she take out of her hand bag?
Options:

| » her spectacles

> = her travel ticket

3 % some money



4 her lipstick

Question Number : 85 Question Id : 381906690 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
What did Sudha do after she got a scolding?

Options :
1« she continued looking out of the window
> % she continued to look at the woman

3« she started crying like a child

4 = she shouted back at her mother

Sub-Section Number : 2
Sub-Section Id : 38190628
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Number : 86 Question Id : 381906691 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Choose the correct prefix for the word ‘logical’

Options:

1. % 1n-



2. % d-

3.v 115

4. % il]—

Question Number : 87 Question Id : 381906692 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which of the following words has been spelt correctly?
Options:

1 % connoisurre

5> % conoisuer

3w connoisseur

4 % CONNoissure

Question Number : 88 Question Id : 381906693 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Fill in the blanks with a suitable article;
We go to school every morning. On way we see
beautiful house.

Options :

1.« the, a

o2 % @& an

3 = an, the

4. % the, an

Question Number : 89 Question Id : 381906694 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
When I go back home, I find my mother busy in kitchen.

Options :
1. % d
5 « the

3. % dn

4 % No article



Question Number : 90 Question Id : 381906695 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Complete the sentence by choosing a correct preposition.
Ramu looked very tired. He had just come back the gym.
Options :

1. % b}

2. ® of

3 % O

4.« from

Question Number : 91 Question Id : 381906696 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Choose the correct synonym for the word underlined.

After lunch, the children were given a bowl of ice-cream.

Options :
1. % sweet

5>« dessert

5 % appetiser



4. % left over

Question Number : 92 Question Id : 381906697 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Choose the correct antonym for the word underlined.

An elephant 1s known for being sanguine.

Options :

1 fmendly

2. ® wild

5 » dangerous

4. % foolish

Question Number : 93 Question Id : 381906698 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
Fill in the blank with a phrasal verb:

The teacher was angry with the student who was the

window.

Options :



1« looking out of

, « looking into

5 looking for

4 » looking after

Question Number : 94 Question Id : 381906699 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Which is the correct passive form of the given sentence?
[ bought this book two days ago in the exhibition.

Options :

| « This book bought two days ago in the exhibition.

> = T'wodays ago, I bought this book in the exhibition.

3 This book was bought by me two days ago in the exhibition.

4 « Lhis book was bought by the exhibition two days ago.

Question Number : 95 Question Id : 381906700 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Identify the correct past tense form of the sentence given.
Plants are green when you water them every day.
Options :

Plants are green when you watered them every day.

1. %

5 Plants were green when you watered them every day.

5 « Plants will be green when you water them every day.

n Plants have to be green when you water then every day.

Question Number : 96 Question Id : 381906701 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Join the two given sentences using a proper conjunction.

1. The teacher in the class taught the lessons very well,
1, The teacher was strict and got angry easily.
Options :

1. % and
2 % also

3. & even



4. v But

Question Number : 97 Question Id : 381906702 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Add a question tag to the given statement.

He always gets the first rank, he 1s very intelligent,

Options :

1 % isn’tit?

> = doesn’t he?

3.« 1sn't he?

4. % does he?

Question Number : 98 Question Id : 381906703 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which word has the same meaning as the following sentence? Fill in the

blank with an appropriate phrase to complete the sentence.

My teacher has written and published many stories. He/She 1s

Options:

1.« an author



, » astory teller

3 % a writer

4 » anintelligent person

Question Number : 99 Question Id : 381906704 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following sentences is correct?

Options :

. » There are a book on my table

, « There are book on my table

5 % Ihere books are on my table

4 « Ihere are books on my table

Question Number : 100 Question Id : 381906705 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Here are four sentences a, b, ¢, and d. Put them 1n order to

make a paragraph. The possible orders are suggested below.

L. The doctor gave me an injection.
2 [ could not get up from the bed.
3. My mother took me to a doctor.
4, The doctor saw I had high fever.

Options :

1 = ab.cd

> b, d a

3 % ¢, b ad

4 % d,ab,c
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Question Number : 101 Question Id : 381906706 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Bhagath Singh was executed into which of the following cases
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Options :
Lahore conspiracy case

o - . il
1. JEJ et

Central Assembly Bomb case
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Kakori case
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3. % Epare
Dalhousie square Bomb case
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Question Number : 102 Question Id : 381906707 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Which king has started the organization of “Kumbh Fair™ at Allahabad?
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Options :
Harshavardhana

]

1“"-"/ 'h-"" "l.-"le

LR} -~
¥

Dhruwasana 11

(a3L-ls P s

Narasimha Varman

A .
3, % ¢ s

Akbar

f
|

Question Number : 103 Question Id : 381906708 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“Upanishads™ are books on
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Options:

Politics

Philosophy
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o L]

2. v ——



Medicine

3. % "".L'

Social life

Question Number : 104 Question Id : 381906709 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
:N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
* Pankaj udhas™ who passed away recently associated with which filed
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Options :

Politics

Sports
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Singing
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Science

4. Sk



Question Number : 105 Question Id : 381906710 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

What is the theme of “World NGO Day 202477
< 152024 NGO

Options :

| » Building a sustainable future : The role of NGOs in Achieving the SDGS

, « Building a more equitable world

5 » Empowering Communities for Sustainable Development

4 = Celebrating Community Heroes

Question Number : 106 Question Id : 381906711 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Recently, which Institute has launched the “India’s largest Drone Pilot Training
Organization™ ?
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Options:

[IT Bombay
&L IIT

[IT Guwahati
, v QT



[IT Roorkey

3 % ,_;.;'IFJI[T
[IT Kanpur
4 % sl T

Question Number : 107 Question Id : 381906712 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

* Digital Detox™ Initiative recently seen in the news is associated with which state
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Options :

Kerala
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Maharashtra
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Question Number : 108 Question Id : 381906713 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

General Dong Jung, who was recently in news is the defence Minister of
which country?
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Options:

China

e

1.v e

Taiwan
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South Korea
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North Korea
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Question Number : 109 Question Id : 381906714 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

* Global Waste Management Outlook 2024™ recently seen in
news 1s published by which one of the following organization
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Options :

1.



. UNEP

, « UNDP

.« UNESCO

4. % IMF

Question Number : 110 Question Id : 381906715 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Recently which South American country has declared a health emergency due to
the rising of Dengue Fever™

- =

p
ST e

’ /-"":'.. ' P ] [ fwo 3. 7 o JE
KOS Alodad Lk 107 ot f Joc 200 Urs 25 L M5 9%S
Options :

Chile

Argentina

3 % Ogd

Bolivia
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Question Number : 111 Question Id : 381906716 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

“Vantara” imtiative recently seen in the news, 1s associated with which of the
following?
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Ammal welfare
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Question Number : 112 Question Id : 381906717 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Which Institution constituted a taskforce to examine the impact of Digital
personal de pIGTE’LllOI] Act on Insurance Sector
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Ministry of Electronics & IT
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Question Number : 113 Question Id : 381906718 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Funds raised through “Social Bonds on Bombay Stock Exchange™ as listed
in NABARD would be used to reference in which one of the following
scheme?
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Question Number : 114 Question Id : 381906719 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Which region of India is richest in Iron & Coal deposits?
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Options :

Thar Desert
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The Southern region

Himalayan region
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Correct Marks : 1 Wrong Marks : 0



Bihu Naas is a dance form prevalently practiced in which State?

= 3

- F F et ] ;
e KIS el lalied ) Ut

Options:

West Bengal
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Question Number : 116 Question Id : 381906721 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0

To create scientific temperament, initiative amongst the Indian students, Central
Government has started ATL Lab. What is the full form of ATL?
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Options :

1. % Applied Techno Lab

, « Atal Tinkering Lab



. Alternate Technique Lab

. Atal Technology Lab

Question Number : 117 Question Id : 381906722 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
: N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

First cyber law which provides the Legal infrastructure for e — commerce in

India 1s
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The information technology Act, 1996
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The Information Technology Act, "’0{}0
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The Information Technology Act, 1998
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The Information Technology Act, 1990
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Question Number : 118 Question Id : 381906723 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time

:N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Which state 1s set to host the “Mahakumbh 2025 event?
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Options :

Uttar Pradesh
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Question Number : 119 Question Id : 381906724 Question Type : MCQ Option Shuffling : No
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: N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Bhopal gas tragedy is associated with the leakage of
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Options :

Carbon dioxide

i ,"’E B
1. % e e Hobele

Nitrogen dioxide
il

| : :""?l j‘__" -
2 33 ,J-L—"' L,-I],_{ Ly L-



Sulphur dioxide

3. % a0 2

Methyl Isocyanate

4. AT e

Question Number : 120 Question Id : 381906725 Question Type : MCQ Option Shuffling : No
Display Question Number : Yes Is Question Mandatory : No Calculator : None Response Time
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Correct Marks : 1 Wrong Marks : 0

Which Sate has launched “Indias First Village Atlas™
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Which ministries and departments are involved in ‘PM Gati Shakti National
Master Plan™?
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The Indian state 1s known for its traditional dance form called “Perini”™?
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Which policy proposed the establishment of PARAKH?
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Holistic Development Policy, 2018
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Who plays the central role in enacting holistic teaching methods?
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What 1s the purpose of learning objectives in a lesson?
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To outline what students should be able to do or know by the end
of the lesson
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To promote competition among students
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To focus solely on academic achievements
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To guide the planning and instruction of the lesson
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According to NEP 2020, what is the new curricular structure that replaces
the current ]0+’?+'-¥ system?
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Which of the following is not a reason for the socio-economic disadvantage
faced by marginalized communities in India?
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Caste-based discrimination

7, Lo
.-';I-._u-*—"‘ \',-‘..-vh.u-‘l-‘

u
L

Lack of access to quality education
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The article of the Indian Constitution prohibits discrimination on the grounds
of religion, race, caste, sex, or place of birth?
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Article 14
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The amendment of the Indian Constitution introduced the ‘Right to
Education” as a Fundamental Right?
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86™ Amendment
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This Government body 1s responsible for monitoring the implementation of
the Samagra Shiksha Abhiyan program?
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Ministry of Education

1. ¢ S0

National Human Rights Commission
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National Institute of Open Schooling
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A computer converts data into this.
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Charts
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Which type of software would you use to make the computer perform a
specific task, such as writing a letter or drawing a picture?
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Utility software
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System software
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[n most programs, you can press this key to get help.
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To use a microphone for input, you must install a on
your computer.
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Acoustic card

Sound card
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Audio card

Aural cord
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Resolution 1s determined by the computer’s

- I/ "

J -~ -
I | * | .

, e _ o
A VIO SEE ) " AE—— R L A AN

Options :

Video controller

-

1« S s



System unit
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Laser printers use heat and pressure to bind the tiny particles of a
to paper.
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A computer’'s CPU consists of millions of tiny switches called
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list of command choices in an operating system or application is
called a

L . .I--
A = -

- w 1] | 4
il J i k af L= o ~
Lt U A LI IO

-~ - -

Options :



Check box

Drop-down list
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The hypertext transfer protocol uses Internet addresses 1in a special format,
called a Resource Locator.
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The Internet tool which is used to copy files from one computer to another
1s known as
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.« SMTP
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18 the generic name given for the station that 1s installed,
when an organization contracts with an ISP.
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[n MS-Word, if you wish to replace original text with new text, you use the
following shortcut for Replace function:

-~ ..L_,

/ ¥ f (5 A T
é-fvwl—f-'.-'l-"v L_,r-‘ -CF_-G'.-V' e V“l‘"‘ V"'L?”L—' 'h-"' .#h_-o-'-ﬂ"’f-_-'-h IH 44 I | |"v'-'.-‘.-'fu"'¢

Options :

. = Ctrl + R
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To create a chart in a slide, you enter data in a separate window
called as
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spreadsheet
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Spreadsheets work with four basic kinds of data labels, numbers, date and
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A can convert a printed image into digital format.
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scanner
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GIF images are often found on WWW pages, they contain only
or fewer colors.
AP w36 WWW F17 GIF
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Characters that are not used in calculations are usually stored in a
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text field

date field
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binary field
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The fields which typically include automatic error checking
features are
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date and time
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The order in which program statements are executed 1s called
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Anti-spyware utilities can detect the spyware and
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